3UDFRZQLN S5RINaDG  SURI

/DVIRB

_UJDN $QGUIHI 7\J

o
™
=
n
7N 7N 7™
o) OHIRGRIRJLD EDGDE QDG OHIRGRIRJLD EDGDE QDG OHIRGRIRJD EDGDE QDG
Q EH]SIHFIHEVIZHP EH]SIHFIHEVIZHP EH]SIHFIHEVIZHP
2 ZDW]IDA SURI _U]ON ZDW]IDA SURI _U]ON ZDW]IDA SURI _UJON
$QGUJHI =% %l $QGUTHI =% %l SQGUTHI =% %l
/ -$5 / -$5 / -$5
7N 7N 7\G] 7\6]
2FKURQD JRVSRGDUNL 2FKURQD JRVSRGDUNL OHIRGRIRJD EDGDE QDG OHIRGRIRJLD EDGDE QDG
SDEVIZD NRQZ  SIRI SDEVIZD NRQZ  SIRI EH]SIHFTHEWIZHP EH]SIHFTHEVIZHP
_UJDN $QGUIHI =% _UJDN $QGUIHI =% ZDWV]IDN SURI - UJDN ZDWV]IDN SURI - UJDN
%10 & %10 & SQGUTHI =% %l SQGUTHI =% %1
/ -$5 / -$5
7\6] 7\6]
2FKURQD JRVSRGDUN. 2FKURQD JRVSRGDUN. -
SDEVIZD NRQZ  SIRI SDEVIZD NRQZ  SIRI OHIRGRIRJD EDGDE QDG
_UJON $QGUIHI =% _UDN $QGUTHI =% EH]SIHFIHEVIZHP
%10 & %10 & ZDW]IDA SURI _U]ON
$QGUIHI =% %1
> 7\G] / :$5
T OHIRGRIRJLD EDGDE QDG
§ 7\G] \G] EH]SIHFJHEVIZHP
N 2FKIRQD | |2FKURQD ZDWV]IDN  SURI - UJDN
A JRVSRGDUNL | |JRVSRGDUNL SQGUTHI =% %1
L SDEVIZD NR| [SDEVIZD NR / :$5
0z SIRI | [0z SIRI
~UJON ~UJDN 7N
iQGU]H” = iQGU]H” = OHIRGRIRJLD EDGDE QDG
EH]SIHFIHEVIZHP
‘21 o ‘21 o ZDW]ID\ SURI - UJDN
$QGUIHI =% %1
7N /%5
OHIRGRIRJLD EDGDE QDG
EH]SIHFIHEVIZHP
ZDW]IDA SURI _U]ON
$QGUIHI =% %1
/ -$5
=
)
o
©




